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Year 5
Arithmetic practice test 6

|

Name:
Date:

1 | 1024 + 3463 " 110(813x 3
2 |5839-120 T [11(3619+7
3 | +77=87 i |12 |0.08-0.05
4 |55- =3 : 13|3_2
6 6
5 80 x 800 1 14 185X87
6 |4, > C [
11 11 S (721 x 24
/ 3.39 =10 1 16 l_l
g 62 10 2
" 117 113x6.3
1
7 [05+01 18 | 963,179-619,148
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19 | 8,853,016+1,583,062 1 28 | 839 x 25
20 | 11-0.019 1 29 | 60.25 x 100
21 | 87 x 362 2130|1532
4
1
22 1-x9 ! 31 [ 75+ 10
23 (1337 x 7 1 |32 303,291-10,000
. 33| 2,1
24 1204 + 6 1 i
25 | 41 1 34 | 1
4 T2 " of __is4
26 |47.68 cm in mm " |35 +10=17
27 | 10% of 4.6 1|36 |6x__ =36

Things to work on for next time:
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Year 5

Arithmetic practice test 6

answers

4,487 10 [2439 19 |10436078 28 |20, 975
5,719 11 |517 20 |10.981 29 6025
10 12 [0.03 21 {29,693 30 |8

52 13 [1/6 22 | 9/2 4 1/2 |31 |85
64,000 14 116,005 23 {9359 32 |293,,291
9/11 15 (17,304 24 |34 33 |7/10
0.339 16 [2/10 or 1/5 25 |20 5/6 34 |40

36 17 |8.19 26 |476.8 mm 35 [170

0.6 18 |344031 27 |0.46 36 |6
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